ACCOUNTANCY AND BUSINESS STAT‘S'HQS

LM

(i)

(i)

(iv)

(v)

First Paper (Direct Taxes)
OBJECTIY E PART-1
AMaximum marks : 40

To what extent the contribution givep b
employer in respect of the assessee to the Ap n
zuation Fund is exempted? Provey
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Can the annual value of a house propert '

negative? If so, how? Perty be in
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Shri Keshav is having his own transport compap,
During the previous year 2010-11, he used one liggi
commercial vehicle for 4 months and 3 days, one
medium commercial vehicle for 10 months and one
heavy commercial vehicle for 10 months and 27 days
In addition he took 3 heavy commercial vehicles gp
lease throughout the year. Calculate his presumptive’
income from the said business. ;
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In the computation of long term capital gain the cost
gﬁ ;Cqulﬂtmn is indexed. Explain the exception | :
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Shyarr; -';?Ll &am received as interest Rs: 540 4

ohan each. Shyam and IVIC"I"anelll b

is a sole proprietor of his busi '

: : usiness. During the
gnancxal year 2009-2010 the gross turnover of Mr.
]J;yam was Rs. 50 lakhs while the gross turnover of
Mr. Mohan was only Rs. 35 lakhs. Calculate the
income from other sources of Mr. Ram.
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(vi) Can an assessee get deduction under Section 80C
without making any payment during the previous

year? If yes, how? .
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(vii) Compute gross tax liability for assessment year 2011-
12, if total income of a female assessee is Rs. 2,45,000

including casual income of Rs. 50,000.
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(viii) Taxable income of a firm is Rs. 1,20,00,000. Find out
the tax payable by it for the assessment year 2011-12.
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(ix) Enumerate any two categorie_s of persons who glre
required to fill their return of income compulsortly,
irrespective of quantum pf their income. el
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Dr. Suman is a lecturer in Government College, C;n
July 1, 2006 she has been fixed at Rs. 44,380 in,
pay scale of Rs. 37,400-67,000. In addition to i Rs
9,000 is payable to her as academic grade pay, Ag
per Government rules annual increment is given
@3% of salary and academic grade pay which is
rounded off in the next multiple of Rs. 10, Find oy
basic'salary of Dr. Suman for the assessment yeg,
2011-12.
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Raman started construction of a residential house
on 1st January, 2005. It was completed on 10th June,
2010. 1t consists of two residential units. Both the
units are used for his own residence. He took a loan
of Rs. 6,00,000 on 1st April, 2006 for the construction
of this house at an interest rate of 15% per annum.
No part of the loan has been repaid till now.

Compute the amount of interest deductible for the
Assessment Year 2011-12.
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An assessee has three deep discount bonds. Two of

(iv)

(v)

these from 1.D.B.1. and one from I.C.1.C.I. He got Rs.
26,000 during the previous year on the redemption
of one bond of Rs. 10,000, and the second bond of
Rs. 15,000 was sold in the market for Rs. 27,000.
The market price of the third bond on 31st March,
2010 and 31st March, 2011 was Rs. 11,200 and Rs.
11,200 and Rs. 12,600 respectively. Compute the
taxable income of various heads for the Assessment
Year 2011-12.

T FIGM & I TIeA 922 91 919 |08 €1 38 ¥ Q) 9vE
ang €Yot ond. 3 € oo v o e e i i R
10,000 T92 ¥ TF 10 F MYA T Ta=d o 26,000 T4 W
T T AR 15,000 ¥4 3 wfog it AR A 27,000 T4 A 3
ferarr | frgE =TUs @1 31 7, 2010 W 31 W, 2011 S TR
e A 11,200 ¥ TH 12,600 T4 a1 = fafor =
2011-12 ¥ feru fafir= sidl =t 9 drg i =g d |

Though argucultural income is exempt from tax, yet
it increases the tax liability on other incomes. Discuss. -
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A firm earned Rs. 3,40,000 as prc_lﬁt after allowing
interest of Rs. 1,80,000 on their capital @ 1893.01:%1'395
A has been given remunerafion of Rs. lég 600 and
B has been given remuneration of Rs. 1, éraﬁém -
areactive partners and interest ana remun
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artnership deed. Calculate the
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Maximum marks : 60
3. Shni Pankaj was appointed as a technician in M/s Delhj

Cloth Mill, Delhi on January 1, 1994 in the scale of Rs,
8,000-400-14,000-600-20,000. He was in receipt of city
compensatory allowance @ Rs. 200 p.m. deamesg
allowance@® Rs. 1,000 p.m., dearness allowance @ R,
1,000 p.m. (under the terms of employment) ang
entertainment allowance @ Rs. 500 p.m. He had takep,
an advance of 3 months salary on February 1, 2019,
He was provided a rent free residential accommoda-
tion facility by his employer. The amount of rent of
the house was Rs. 4,000 P.M. :

He services were terminated on account of
retrenchment on July 1, 2010 and he was paid Rs.
1,00,000 as compensation for it. No notice was given
to him for his retrenchment so he was paid Rs. 50,000
as salary of notice pericd. At the time of termination
of services earned leave of 9 months was at his credit
for which he was paid Rs. 1,42,200 including dearness
allowance and city compensatory allowance. He gets
Rs. 6,000 p.m. as pension. He received on January 1
2011 Rs. 4,50,000 as commuted value of pension for 3/
4th his pension. Compute Shri Pankaj's taxable income
;orp salaries for the Assessment Year 2011-12
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(i) Income froim business and profession

(iii) Long term capital gain (computed)
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How is residence of assessess determined for income
tax purpose? Explain the relationship between

residence and tax liability.
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Section-B

. From the following particulars compute the total

income and the net tax payable or refundable by an
individual assessee for the assessment year 2011-12
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(i) Income from let out property (taxable) (-) 25,000
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(iv) Dividend received from co-opera
e Wil @ T W

(v) Received in

of a company -

TF FmA & Tgfaa

(vi) Winning from M.P. Sta |

December, 2(%0 S o107 o

(vii) Donatio ,

qugref el H qH

] 5
terest from unlisted debentur 0 000

o1 AT & o T e
te Lottery 11t 30,000

n to charitable institutions



(viii) Paid premium of insurance of his heaith

by cheque 18,000
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(ix) Donation to National Defence Fund 4,500
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(x) Purchased National Saving Certificates

(VI issue) . 70,000
TG =wa 77 ared i

(xi) Deposited in Public Provident Fund 35,000
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(xi) Contribution to notified long term infra-

structure bonds of Power Finance

Corporation ) 15,000
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Discuss the provisions of Income Tax Act relating to -

the set off and carry. forward of losses.
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. A, B and C are equal partners in a firm in which A’

and B are working partners and C is non-working

partner. Each partner was given interest on his capital
@ 18% per annum for the year 2010-11, the amount

of which was Rs. 18,000, Rs. 27,000 and Rs. 36,000
for A, B and C respectively. Apart from it salary of Rs.

3,000 per month for A, Rs. 2,000 per month for B-and -
Rs. 3,000 per month for A, Rs. 2,000 per month for B

and Rs. 1,000 per month for C and a bonus of Rs.
10,000 per annum for each partner were paid during
2010-11. The profits of the firm after adjustments for
the above payments were Rs. 60,000 which included
Rs. 20,000 of the long term capital gains. Onan
enquiry, you find that the partnership deed of the firm
‘was amended on 1st January, 2011, According to this
-amendment the Payment to partners for interest, salary

\ . hem
and bonus as mentioned above was to be made to tl

with effect from 1st July, 2010, while the immgdmlc]y
preceding, partnership deed provided only for interest
on capital @ 12% per annum to be paid to the partners.
Ascertain the total income of the firm and lax payable
on it for the Assessment year 2011-12.
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State in detail the liabilit
Y to pay advance tax
method of its computation. e the
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